

TEAM RECORDS

COPA DE LA DIVERSION





In November 2019, the Hudson Valley Renegades announced their participation in Minor League Baseball's popular Copa de la Diversión program, and unveiled the team's alternate identity: the Fenómenos Enmascarados del Valle de Hudson (Hudson Valley Masked Phenoms).

"Fenómenos Enmascarados," which directly translates to "Masked Phenoms," celebrates the rich blend of Latin cultures throughout the Hudson Valley. In celebration of Lucha Libre, the Renegades staff are striving to provide our fans a blend of fighting spirit and showmanship at the ballpark.

The Den Pro Shop online and at Heritage Financial Park feature an entire Fenómenos Enmascarados collection. Prior to the 2024 season, the Renegades announced a refresh of the on-field look for the Fenómenos Enmascarados, playing more into the vibrant colors of the identity and a championship belt draped over the shoulder of the uniform. The Renegades will host four Copa de la Diversión nights at Heritage Financial Park throughout the season.

May 4 - Cuatro de Mayo
June 1 - National Puerto Rican Day
August 7 - Caribbean Night
September 5 - Hispanic Heritage Month Kickoff

<u>MISCELLANEOUS AWARDS</u>

SOUTH ATLANTIC LEAGUE WEEKLY HONORS

	Player of the Week	Pitcher of the Week
2024	Garrett Martin (8/19-25)	
2023	Aaron Palensky (5/22-28)	Juan Carela (4/17-23)
		Drew Thorpe (5/29-6/4)
		Tyrone Yulie (6/19-25)
		Drew Thorpe (7/17-23)
		Luis Velasquez (7/24-30)
2022	Jasson Domínguez (9/5-9/11)	Matt Sauer (5/31-6/5)
		Richard Fitts (8/22-8/28)
2021	Oswald Peraza (5/10 - 5/16)	Luis Medina (5/4 - 5/9)
	Josh Breaux (7/5 - 7/11)	Josh Maciejewski (6/28 - 7/4)
		Jhony Brito (7/19 - 7/25)
		losh Macigiawski (9/6 - 9/12)

SOUTH ATLANTIC LEAGUE MONTHLY HONORS

	Player of the Month	Pitcher of the Month
2024		Ben Shields (June)
		Trent Sellers (July)
2023	Agustin Ramírez (July)	Drew Thorpe (June)
2022		
2021		Randy Vázquez (August)

SOUTH ATLANTIC LEAGUE ALL-STARS

	Player	Stats
2024	SP Cam Schlittler	6-4, 2.60 ERA, 17 G (17 GS), 86.2 IP, 108 SO
	SP Trent Sellers	6-3, 2.09 ERA, 31 G (9 GS), 1 SV, 82.0 IP, 98 SO
2023	SP Drew Thorpe	10-2, 2.81 ERA, 18 G (18 GS), 109.0 IP, 138 SO
	RP Jack Neely	5-3, 2.03 ERA, 31 G, 6 SV, 48.2 IP, 74 SO
2022	3B Tyler Hardman	.262/.329/.479, 22 HR, 79 RBI
2021	None	

SOUTH ATLANTIC LEAGUE PITCHER OF THE YEAR

	Player	Stats	
2024	SP Cam Schlittler	6-4, 2.60 ERA, 17 G (17 GS), 86.2 IP, 108 SO	
2023	SP Drew Thorne	10-2 2 81 FRA 18 G (18 GS) 109 0 IP 138 SO	

MINOR LEAGUE BASEBALL PITCHING PROSPECT OF THE YEAR

	Player	Stats
2023	SP Drew Thorpe	10-2, 2.81 ERA, 18 G (18 GS), 109.0 IP, 138 SO

MINOR LEAGUE BASEBALL HITTING PROSPECT OF THE YEAR

	Player	Stats
2021	INF Anthony Volpe	.294/.423/.604, 109 G, 121 H, 35 2B, 6 3B, 27 HR, 86 RBI, 78 BB, 33 SB

BASEBALL AMERICA TOP NEW YORK-PENN LEAGUE PROSPECTS

	Player	Stats
2017	LHP/1B Brendan McKay	,232/,349/,376, 4 HR, 22 RBI1-0, 1,80 ERA, 6 G (6 GS), 20.0 IP, 21 K, 5 BB
2012	RHP Taylor Guerrieri	1-2, 1.04 ERA, 12 G (12 GS), 52.0 IP, 45 K, 5 BB
2006	RHP Jeremy Hellickson	4-3, 2.43 ERA, 15 G (14 GS), 77.2 IP, 96 K, 16 BB
1997	RHP Matt White	4-6 4 07 FRA 15 G (15 GS) 84 0 IP 82 K 29 BB

HUDSON VALLEY RENEGADES RETIRED NUMBERS

No.	Player	Notes
45	Kevin Brown	First Renegades player to reach MLB
42	Jackie Robinson	Retired throughout professional baseball in 1997
94	Rookie & Rene Renegade	Beloved mascots, parents of Rascal
33	Wade Davis	3x AL All-Star, 2015 World Series Champion

TEAM RECORDS

MISCELLANEOUS AWARDS

NEW YORK YANKEES KEVIN LAWN AWARD WINNERS

The annual Kevin Lawn Awards are presented each spring training to the Yankees' minor league "Position Player of the Year" and "Pitcher of the Year". The awars are dedicated to Kevin O'Brien Lawn - the son of longtime Yankees Vice President and Chief of Operations Jack Lawn - who passed away in 1999.

POSITION PLAYER OF THE YEAR: PITCHER OF THE YEAR:

2024		
2023	C Ben Rice (TAM/HV/SOM)	RHP Chase Hampton (HV/SOM)
2022	OF Jasson Domínguez (TAM/HV/SOM)	RHP Will Warren (HV/SOM)
2021	SS Anthony Volpe (TAM/HV)	RHP Hayden Wesneski (HV/SOM/SWB)
2020	No winners (Minor League season canceled due to COVID)	
2019	1B Chris Gittens (TAM)	RHP Deivi García (TAM/TRE/SWB)
2018	INF Brandon Wagner (TAM/TRE)	RHP Michael King (TAM/TRE/SWB)
2017	3B Miguel Andújar (TRE/SWB)	RHP Domingo Acevedo (TAM/TRE/SWB)
2016	OF Aaron Judge (SWB)	RHP Chance Adams (TAM/TRE)
2015	C Gary Sánchez (TRE/SWB)	RHP Luis Severino (TRE/SWB)
2014	INF Rob Refsnyder (TRE/SWB)	RHP Luis Severino (CHA/TAM/TRE)
2013	1B Greg Bird (CHA)	RHP Shane Greene (TAM/TRE)
2012	OF Tyler Austin (GCL/CHA/TAM/TRE)	RHP Mark Montgomery (TAM/TRE)
2011	C Austin Romine (TRE/SWB)	RHP D. J. Mitchell (SWB)
2010	SS Eduardo Nuñez (SWB)	RHP David Phelps (TRE/SWB)
2009	C Austin Romine (TAM)	RHP Zach McAllister (TRE)
2008	OF Brett Gardner (SWB)	LHP Phil Coke (TRE/SWB)
2007	OF Austin Jackson (CHA/TAM/SWB)	RHP Ian Kennedy (TAM/TRE/SWB)
2006	1B Cody Ehlers (TAM)	RHP Phil Hughes (TRE)
2005	OF Kevin Thompson (COL/TRE)	RHP Matt DeSalvo (TRE)
2004	1B Andy Phillips (COL/TRE)	RHP Chien-Ming Wang (TRE/COL)
2003	C Dioner Navarro (TAM/TRE)	RHP Jorge DePaula (COL)
2002	2B Andy Phillips (COL/NOR)	LHP Danny Borrell (NOR/TAM) & RHP Jorge DePaula (NOR)
2001	OF Juan Rivera (COL/NOR) & OF Marcus Thames (NOR)	LHP Brandon Claussen (NOR/TAM)
2000	3B Scott Seabol (NOR)	LHP Randy Keisler (COL)
1999	2B D'Angelo Jimenez (COL) & 1B Nick Johnson (NOR)	LHP Ed Yarnall (COL)
1998	1B Nick Johnson (TAM)	RHP Ryan Bradley (TAM/NOR/COL)
1997	3B Mike Lowell (COL/NOR)	LHP Eric Milton (NOR/TAM)
1996	OF Ricky Ledee (COL/NOR)	RHP Jay Tessmer (TAM)
1995	SS Derek Jeter (COL)	RHP Matt Drews (TAM)
1994	SS Derek Jeter (TAM/ALB/COL)	LHP Andy Pettitte (COL/ALB)
1993	OF Billy Masse (COL)	LHP Ryan Karp (ALB/PRW/GBO)
1992	1B J.T. Snow (COL)	RHP Sam Militello (COL)
1991	C Kiki Hernandez (GBO/PW) & SS Dave Silvestri (ALB)	RHP Ed Martel (ALB/COL) & RHP Sam Militello (PW/ALB)
1990	OF Hensley Meulens (COL)	RHP Dave Eiland (COL)
1989	1B Hal Morris (COL)	LHP Steve Adkins (FTL/ALB)
1988	1B Kevin Maas (PRW/ALB)	RHP Todd Malone (SAR)
1987	OF Darren Reed (COL)	RHP Dana Ridenour (FTL)
1986	3B Chris Alvarez (FTL)	RHP Logan Easley (ALB)
1985	OF Dan Pasqua (COL)	RHP Brad Arnsberg (ALB)
1984	C/OF Scott Bradley (COL)	LHP Jim Deshaies (COL)
1983	OF Brian Dayett (COL)	RHP Jose Rijo (FTL/NSH)
1982	OF Matt Winters (GBO/NSH)	RHP Bob Tewksbury (FTL)
1981	1B Don Mattingly (COL)	LHP Pete Filson (FTL/NSH)
1980	1B Steve Balboni (NSH)	RHP Gene Nelson (FTL)

REHABBING MAJOR LEAGUERS

Since the team's founding in 1994, the Hudson Valley Renegades have hosted five players on a Major League rehab assignment. The first MLB rehabber took place during the Tampa Bay Devil Rays/Rays affiliation, while the most recent four came during the Renegades' affiliation with the New York Yankees.

2024: D.J. LeMahieu (INF)

2018: Tommy Pham (OF)

2021: Luis Severino (RHP) 2022: Ben Rortvedt (C)

2023: Carlos Rodón (LHP)



MAJOR MILB AWARDS

ANTHONY VOLPE

2021 MLB Pipeline Hitting Prospect of the Year

In the inaugrual season of Hudson Valley's affiliation with the New York Yankees, **Anthony Volpe** was named *MLB Pipeline* Hitting Prospect of the Year after a monster season with the Renegades and the Low-A Tampa Tarpons.

The 20-year-old hit .286/.391/.581 in 55 games with Hudson Valley, while clubbing 17 doubles and 15 home runs. Including his time in Tampa, Volpe collected 121 hits, 35 doubles, 6 triples, 27 HRs, 86 RBIs, and was 33-for-42 on stolen base attempts.

"He stays on the ball for a really long time, but his attacking ability is great," said Hudson Valley manager Dan Fiorito to Sam Dykstra of MLB.com. "He finds a way to get the ball in the air and drive line drives to all fields. He has a great ability to keep the ball off the ground."

The Yankees drafted Volpe with the 30th pick in the 1st round of the 2019 MLB Draft out of the Delbarton School in New Jersey. He was originally committed to play alongside high school teammate Jack Leiter at Vanderbilt, but opted to sign and begin his professional career.

DREW THORPE

2023 Minor League Pitching Prospect of the Year

Former Hudson Valley Renegades pitcher Drew Thorpe was named Minor League Pitching Prospect of the Year by Major League Baseball during MLB's inaugural Minor League Baseball Awards Show in 2023.

In his first professional season, Thorpe was sensational across 23 starts between the Renegades and Double-A Somerset Patriots. He led all Minor League pitchers in strikeouts (182), and was second in WHIP (0.98), tied for second in wins (14), fourth in ERA (2.52), and sixth in opponent's batting average (.200). He led the South Atlantic League in ERA, wins, opponent's batting average, WHIP, and winning percentage (.833).

Thorpe was previously named South Atlantic League Pitching Prospect of the Year.

In 18 starts with the Renegades, Thorpe set new single-season franchise records for wins (10), and strikeouts (138). He set the Renegades single-game strikeout record when he punched out 13 Brooklyn Cyclones batters on July 22. In addition to leading the SAL in wins and ERA (2.81), Thorpe finished second

in strikeouts, falling one strikeout shy of winning the SAL Pitching Triple Crown.

The right-hander was named SAL Pitcher of the Month for June after posting a 0.31 ERA (1 ER/28.2 IP) with 34 strikeouts and just six walks. At one point, Thorpe had a 28.1-inning scoreless streak from May 28-June 25, the longest streak by a South Atlantic League pitcher in 2023.

Thorpe, 22, was drafted in the second round of the 2022 First-Year Player Draft by the Yankees out of Cal Poly. After being promoted to the Somerset Patriots on Aug. 8, he went on to be named Eastern League Pitcher of the Month for August.



HOME OPENERS*

,	YEAR	DATE	OPPONENT	SCORE	WIN	LOSS	SAVE	ATT.
	1994	June 19	Pittsfield	W 2-1 (11)	Escamilla	Quillen		4,290
	1995	June 15	New Jersey	L 11-2	Severino	Link		4,320
	1996	June 19	New Jersey					
	1997	June 17	New Jersey	W 7-4	Gonzalez	Huffaker	Reyes	4,320
	1998	June 17	New Jersey	W 8-6	Kofler	Shibilo	Cornejo	4,320
	1999	June 16	Lowell	L 3-2	Lee	Marin	Roller	4,320
	2000	June 20	Queens	W 5-4	Carbajal	Houston	Benedetti	4,207
	2001	June 20	New Jersey	L 3-0	Russelburg	Lockwood	Correa	
	2002	June 18	New Jersey	L 3-0	Ciprian	Cromer	Batista	4,494
	2003	June 17	New Jersey	W 3-2	Navaroli	Runyon	Perez	
	2004	June 19	New Jersey	L 3-1	Roper	Sonnanstine	Sillman	4,604
	2005	June 24	Williamsport	L 5-0	Munoz	McGee		4,649
	2006	June 20	Aberdeen	L 5-3 (14)	Thall	Yil	Lebron	4,597
	2007	June 22	Brooklyn	L 3-0	Carr	Waechter	Clyne	4,814
	2008	June 17	Aberdeen	L 13-7	McCurry	Hayes		4,523
	2009	June 19	Aberdeen	W 4-2	Suárez	Allen	De Los Santos	5,135
	2010	June 21	Staten Island	W 3-2	Garcia	Rodriguez	Hubbard	4,785
	2011	June 20	Staten Island	L 8-3	Nuño	Bellatti		4,612
	2012	June 18	Aberdeen	W 7-3	Ames	Vader		4,879
	2013	June 21	Staten Island	W 5-3	Griffin	Palladino	Loera	5,403
	2014	June 13	Aberdeen	W 2-1	Gil	Nowottnick		4,324
	2015	June 22	Lowell	L 6-1	Almonte	Ingram	Garcia	4,523
	2016	June 17	Aberdeen	W 4-2	Navas	Wells		4,973
	2017	June 21	Staten Island	L 3-2	Bisacca	Padilla	Trieglaff	4,770
	2018	June 21	Vermont	W 4-3	Labosky	Lee		4,325
	2019	June 16	Lowell	L 5-2	De La Rosa	Figueroa	Fernandez	4,634
	2021	May 11	Aberdeen	L 4-0	Stallings	Loseke		1,040
	2022	April 19	Brooklyn	W 5-3	Barclay	Clenney	Coleman	2,027
	2023	April 7	Greensboro	W 8-1	Cortijo	Miller		2,887
	2024	April 16	Aberdeen	W 3-2	Pestana	Sánchez		3,168

SEASON OPENERS*

YEAR	DATE	OPPONENT	SCORE	WIN	LOSS	SAVE	ATT.
1994	June 16	@ New Jersey	L 6-3		Perez		
1995	June 15	New Jersey	L 11-2	Severino	Link		4,320
1996	June 18	@ New Jersey					
1997	June 17	New Jersey	W 7-4	Gonzalez	Huffaker	Reyes	4,320
1998							
1999	June 16	Lowell	L 3-2	Lee	Marin	Roller	4,320
2000	June 20	Queens	W 5-4	Carbajal	Houston	Benedetti	4,207
2001	June 19	@ New Jersey					
2002	June 18	New Jersey	L 3-0	Ciprian	Cromer	Batista	4,494
2003	June 17	New Jersey	W 3-2	Navaroli	Runyon	Perez	
2004	June 18	@ New Jersey					
2005	June 21	@ Aberdeen	W 8-1	Yil	Hoey		6,411
2006	June 20	Aberdeen	L 5-3 (14)	Thall	Yil	Lebron	4,597
2007	June 19	@ Aberdeen	L 12-1	Clark	Cobb		6,620
2008	June 17	Aberdeen	L 13-7	McCurry	Hayes		4,523
2009	June 19	Aberdeen	W 4-2	Suárez	Allen	De Los Santos	5,135
2010	June 18	@ Aberdeen	L 5-2	Anderson	Sierra		6,671
2011	June 17	@ Aberdeen	L 7-2	Bridwell	Rodriguez		6,724
2012	June 18	Aberdeen	W 7-3	Ames	Vader		4,879
2013	June 17	@ Aberdeen	W 5-0	Harrison	Vader		5,281
2014	June 13	Aberdeen	W 2-1	Gil	Nowottnick		4,324
2015	June 19	@ Aberdeen	W 7-2	Chirinos	Cosme		5,076
2016	June 17	Aberdeen	W 4-2	Navas	Wells		4,973
2017	June 20	@ Aberdeen	W 11-2	Franklin	Gruener		4,099
2018	June 15	@ Aberdeen	W 4-0	McGee	Romero	Goodbrand	5,827
2019	June 14	@ Aberdeen	L 2-1	Rodriguez	Moore	Constante	5,969
2021	May 4	@ Jersey Shore	L 6-2	Zarbinsky	Peguero		1,686
2022	April 8	@ Greenville	L 7-6	Roedahl	Hutchison	Scroggins	5,246
2023	April 7	Greensboro	W 8-1	Cortijo	Miller		2,887
2024	April 5	@ Bowling Green	L 6-1	Martin	Keane		2,292

^{*} Team history incomplete prior to 2005.



FRANCHISE FIRSTS

RENEGADES FRANCHISE FIRSTS

Camai	lung 16, 1004 at New Jorsey Cardinals	1.62			
Game:	June 16, 1994 at New Jersey Cardinals	L, 6-3			
Win:	June 18, 1994 vs. Pittsfie l d Mets	W, 2-1			
Day Gam	e: June 26, 1994 vs. Auburn Astros	L, 9-6			
Pitcher:	Luis Perez	June 16, 1994	@ New Jersey		
H:	Ryan Rutz	June 16, 1994, 3rd inning	@ New Jersey		
2B:	Kevin Millican	June 17, 1994, 4th inning	@ Pittsfield		
3B:	Dom Gatti	June 23, 1994, 6th inning	vs. Oneonta		
HR:	Kevin Brown	June 21, 1994, 7th inning	@ Vermont		
RBI:	Matt Bokemeier	June 16, 1994, 4th inning	@ New Jersey		
SB:	Matt Bokemeier	June 18, 1994, 3rd inning	vs. Pittsfie l d		
Error:	Matt Bokemeier	June 16, 1994, 1st inning	@ New Jersey		
Win:	Jaime Escamilla	June 18, 1994	vs. Pittsfie l d		
Loss:	Luis Perez	June 16, 1994	@ New Jersey		
Save:	Jaime Escamilla	June 20, 1994	vs. Vermont		
K:	Luis Perez	June 16, 1994	@ New Jersey		
BB:	Luis Perez	June 16, 1994	@ New Jersey		

YANKEES AFFILIATION HITTING FIRSTS

AB:	Oswald Peraza	May 4, 2021	@ Jersey Shore
Hit:	Ezequiel Duran	May 4, 2021	@ Jersey Shore
Run:	Isaiah Pasteur	May 4, 2021	@ Jersey Shore
RBI:	James Nelson	May 4, 2021	@ Jersey Shore
2B:	Isaiah Pasteur	May 4, 2021	@ Jersey Shore
3B:	Brandon Lockridge	May 5, 2021	@ Jersey Shore
HR:	Pablo Olivares	May 4, 2021	@ Jersey Shore
BB:	Oliver Dunn	May 4, 2021	@ Jersey Shore
K:	Ezequiel Durán	May 4, 2021	@ Jersey Shore
SB:	Isaiah Pasteur	May 4, 2021	@ Jersey Shore
CS:	Ezequiel Duran	May 6, 2021	@ Jersey Shore
HBP:	Mickey Gasper	May 5, 2021	@ Jersey Shore
E:	James Nelson	May 8, 2021	@ Jersey Shore
Win:	vs. Kevin Gowdy	May 5, 2021	@ Jersey Shore
Loss:	vs. Braden Zarbinsky	May 4, 2021	@ Jersey Shore

YANKEES AFFILIATION PITCHING FIRSTS

Starter:	Luis Medina	May 4, 2021	@ Jersey Shore
Hit:	Rudy Rott off Luis Medina	May 4, 2021	@ Jersey Shore
Run:	Jonathan Guzman off Elvis Peguero	May 4, 2021	@ Jersey Shore
RBI:	Jhailyn Ortiz off Elvis Peguero	May 4, 2021	@ Jersey Shore
2B:	Logan O'Hoppe off Nick Ernst	May 4, 2021	@ Jersey Shore
3B:	Rudy Rott off Tanner Myatt	May 6, 2021	@ Jersey Shore
HR:	Logan O'Hoppe off Elvis Peguero	May 4, 2021	@ Jersey Shore
BB:	Hunter Hearn by Luis Medina	May 4, 2021	@ Jersey Shore
K:	Jonathan Guzman by Luis Medina (1st batter)	May 4, 2021	@ Jersey Shore
WP:	Luis Medina	May 4, 2021	@ Jersey Shore
HBP:	Jhailyn Ortiz by Luis Medina	May 4, 2021	@ Jersey Shore
Win:	Barrett Loseke	May 5, 2021	@ Jersey Shore
Loss:	Elvis Peguero	May 4, 2021	@ Jersey Shore
Save:	Nick Ernst	May 14, 2021	vs. Aberdeen

YEARLY ATTENDANCE

1994 138,107 35 3,946 1995 157,353 37 4,253 1996 152,626 36 4,240 1997 161,771 38 4,257 1998 161,821 38 4,258 1999 161,678 38 4,255 2000 155,621 36 4,321 2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,4115 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322	YEAR	TOTAL	DATES	AVERAGE	
1995 157,353 37 4,253 1996 152,626 36 4,240 1997 161,771 38 4,257 1998 161,821 38 4,258 1999 161,678 38 4,255 2000 155,621 36 4,321 2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300		138,107	35	3,946	
1997 161,771 38 4,257 1998 161,821 38 4,258 1999 161,678 38 4,255 2000 155,621 36 4,321 2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231	1995		37	4,253	
1998 161,821 38 4,258 1999 161,678 38 4,255 2000 155,621 36 4,321 2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998	1996	152,626	36	4,240	
1999 161,678 38 4,255 2000 155,621 36 4,321 2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004	1997	161,771	38	4,257	
2000 155,621 36 4,321 2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116	1998	161,821	38	4,258	
2001 160,858 37 4,321 2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243	1999	161,678	38	4,255	
2002 162,724 38 4,282 2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876	2000	155,621	36	4,321	
2003 146,613 34 4,312 2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870	2001	160,858	37	4,321	
2004 155,606 35 4,445 2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012 <td>2002</td> <td>162,724</td> <td>38</td> <td>4,282</td> <td></td>	2002	162,724	38	4,282	
2005 158,424 35 4,526 2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2003	146,613	34	4,312	
2006 164,425 37 4,444 2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2004	155,606	35	4,445	
2007 153,700 35 4,391 2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2005	158,424	35	4,526	
2008 150,528 36 4,181 2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2006	164,425	37	4,444	
2009 161,335 35 4,610 2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2007	153,700	35	4,391	
2010 158,933 36 4,415 2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2008	150,528	36	4,181	
2011 149,246 33 4,523 2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2009	161,335	35	4,610	
2012 161,812 37 4,373 2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2010	158,933	36	4,415	
2013 164,230 38 4,322 2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2011	149,246	33	4,523	
2014 159,084 37 4,300 2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2012	161,812	37	4,373	
2015 163,767 37 4,426 2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2013	164,230	38	4,322	
2016 152,329 36 4,231 2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2014	159,084	37	4,300	
2017 147,936 37 3,998 2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2015	163,767	37	4,426	
2018 148,156 37 4,004 2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2016	152,329	36	4,231	
2019 148,160 36 4,116 2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2017	147,936	37	3,998	
2021 125,599 56 2,243 2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2018	148,156	37	4,004	
2022 184,055 64 2,876 2023 183,649 64 2,870 2024 195,791 65 3,012	2019	148,160	36	4,116	
2023 183,649 64 2,870 2024 195,791 65 3,012	2021	125,599	56	2,243	
2024 195,791 65 3,012	2022	184,055	64	2,876	
	2023	183,649	64	2,870	
TOTAL 4,765,937 1,193 3,995	2024	195,791	65	3,012	
	TOTAL	4,765,937	1,193	3,995	

LARGEST BY OPPONENT

(Since 2005)

(511100 2005)				
TEAM	TOTAL	DATE		
Aberdeen	5,518	9/3/11		
Asheville	4,821	9/6/24		
Auburn	5,141	8/19/16		
Batavia	5,253	7/16/09		
Brooklyn	6,176	7/4/24		
Bowling Green	4,182	4/24/24		
Connecticut	5,492	7/16/11		
Greensboro	2,887	4/7/23		
Greenville	4,128	7/16/22		
Hickory	4,155	8/27/22		
Jamestown	4,828	7/13/06		
Jersey Shore	5,619	5/15/24		
Lowell	5,330	9/5/10		
Mahoning Valley	4,773	8/21/09		
New Jersey	4,738	8/26/05		
Oneonta	5,192	9/6/09		
Rome	5,075	5/25/22		
State College	5,162	8/7/09		
Staten Island	5,430	6/28/11		
Tri-City	5,080	8/26/09		
Vermont	5,532	9/4/16		
West Virginia	4,808	8/4/19		
Williamsport	4,847	7/21/06		
Wilmington	5,169	7/3/23		

LARGEST HOME CROWDS

(Since 2005)

	(Since 2005)				
	DATE	TOTAL	OPPONENT		
1.	July 4, 2024	6,176	Brooklyn		
2.	May 15, 2024	5,619	Jersey Shore		
3.	July 3, 2015	5,601	Brooklyn		
4.	August 12, 2017	5,548	Brooklyn		
5.	August 15, 2013	5,539	Brooklyn		
6.	September 3, 2016	5,532	Vermont		
7.	August 29, 2012	5,525	Brooklyn		
8.	July 3, 2012	5,523	Brooklyn		
9.	September 3, 2011	5,518	Aberdeen		
10.	July 16, 2011	5,492	Connecticut		

<u>nisc. Accomplishmen</u>

TEAM PLAYOFF HISTORY

NYPL Semifinals: Lost to Vermont, 2-0 1998

NYPL Semifinals: Lost to Oneonta, 2-0 1999

1995

2014

NYPL Semifinals: Defeated Utica, 2-1 NYPL Finals: Defeated Mahoning Valley, 2-1

Alice H. Nader Cup Champions 2012

NYPL Semifinals: Defeated Brooklyn, 2-1 NYPL Finals: Defeated Tri-City, 2-1

Alice H. Nader Cup Champions

NYPL Semifinals: Lost to State College, 2-1

2016 NYPL Semifinals: Defeated Lowell, 2-0 NYPL Finals: Lost to State College, 2-0

2017 NYPL Semifinals: Defeated Staten Island, 2-1 NYPL Finals: Defeated Vermont, 2-0

Alice H. Nader Cup Champions 2018

> NYPL Semifinals: Defeated Auburn, 2-0 NYPL Finals: Lost to Tri-City, 2-0

2019

NYPL Semifinals: Lost to Brooklyn, 2-1 2023

North Division Series: Defeated Jersey Shore, 2-1 SAL Championship: Lost to Greenville, 2-0

2024

North Division Series: Defeated Greensboro, 2-1 SAL Championship: Lost to Bowling Green, 2-1



2017 by sweeping the Vermont Lake Monsters in the Nader Cup Finals.

NO-HITTERS (4)

August 10, 2000	vs. Pittsfield Mets	Doug Waechter
July 10, 2021	vs. Brooklyn Cyclones (G2)	Sean Boyle, Nick Ernst & Derek Craft
July 19, 2024	vs. Rome Emperors	Kyle Carr, Trent Sellers & Hueston Morrill
Aug. 22, 2024	vs. Wilmington Blue Rocks (G2)	Trent Sellers, Mason Vinyard & Thomas Balboni, Jr.

1-HITTERS (18)

July 3, 2009	vs. Vermont Lake Monsters	Alex Colomé, Bladimir Florentino & Zach Quate
July 5, 2009	at Vermont Lake Monsters	Kyle Ayers & Bladimir Florentino
June 20, 2016	at State College Spikes	Jose Alonzo & Travis Ott
July 8, 2016	at Brooklyn Cyclones	Brock Burke & Noel Rodriguez
May 7, 2021	at Jersey Shore BlueClaws	Jhony Brito, Charlie Ruegger & Matt Minnick
May 29, 2021	vs. Jersey Shore BlueClaws	Ken Waldichuk & Zach Greene
Aug. 3, 2021	at Brooklyn Cyclones	Randy Vásquez, Nelson Alvarez & Nick Ernst
April 23, 2022	vs. Brooklyn Cyclones	Edgar Barclay, Tanner Myatt & Carson Coleman
May 8, 2022	at Jersey Shore BlueClaws	T.J. Sikkema, Edgar Barclay & Tanner Myatt
June 1, 2022	at Aberdeen IronBrirds	Matt Sauer & Tanner Myatt
July 23, 2022	at Wilmington Blue Rocks	Beck Way, Alex Mauricio & Nelvin Correa
June 4, 2023	vs. Aberdeen IronBirds	Drew Thorpe & Carlos Gómez
June 20, 2023	at Brooklyn Cyclones	Tyron Yulie & Carlos Gómez
Aug. 16, 2023	vs. Brooklyn Cyclones	Justin Lange, Harrison Cohen & Cole Ayers
April 6, 2024	at Bowling Green Hot Rods	Kyle Carr, Trent Sellers, Leonardo Pestana & Joel Valdez
June 8, 2024	at Wilmington Blue Rocks (G1)	Ben Shields & McKinley Moore
Aug. 15, 2024	vs. Hickory Crawdads	Josh Grosz, Indigo Díaz, Thomas Balboni, Jr. & Ocean Gabonia
Aug. 20, 2024	vs. Wilmington Blue Rocks	Baron Stuart, Harrison Cohen & Indigo Díaz

NO-HITTERS BY OPPONENT (1)

August 13, 2006 vs. Lowell Spinners Jeffrey Farrell & Yulkim German

ALL-TIME YANKEES NO. 1 DRAFT PICKS

YEAR	ROUND	SELECTION	PLAYER	POSITION	SCHOOL (STATE)	W/NYY IN MLB
2024	1	26	Ben Hess	RHP	University of Alabama	
2023	1	26	George Lombard	SS	Gulliver Preparatory School (FL)	
2022	1	25	Spencer Jones	OF	Vanderbilt University	
2021	1	20	Trey Sweeney	SS	Eastern Illinois University	
2020	1	28	Austin Wells	C 2B	University of Arizona	2023-Present
2019 2018	1 1	30 23	Anthony Volpe Anthony Seigler	ZB C	Delbarton School (NJ) Cartersville HS (GA)	2023-Present
2017	1	2 3 16	Clarke Schmidt	RHP	University of South Carolina	2020-Present
2017	1	18	Blake Rutherford	OF	Chaminade College Prep HS (CA)	2020-Fleselit
2015	1	16	James Kaprielian	RHP	UCLA	
2013	1	30	Kyle Holder	SS	University of San Diego	
2014	2	55	Jacob Lindgren	LHP	Mississippi State University	2015
2013	1	26	Eric Jagielo	3B	University of Notre Dame	
	1	32	Aaron Judge	CF	Fresno State University	2016-Present
	1	33	lan Clarkin	LHP	James Madison HS (CÁ)	
2012	1	30	Ty Hensley	RHP	Edmond Santa Fe HS (OK)	
2011	Comp A	51	Dante Bichette, Jr.	3B	Orangewood Christian HS (FL)	
2010	1	32	Cito Culver	SS	Irondequoit HS (NY)	
2009	1	29	Slade Heathcott	OF	Texas HS (TX)	2015
2008	1	28	Gerrit Cole	RHP	Orange Lutheran HS (CA)	Did not sign
2007	1	30	Andrew Brackman	RHP	North Carolina State University	2011
2006	1	21	Ian Kennedy	RHP	University of Southern California	2007-09
2005	1	17	Carl (C.J.) Henry	SS	Putnam City HS (OK)	-
2004	1	23	Phil Hughes	RHP	Foothill HS (CA)	2007-13
2003	1	27	Eric Duncan	3B	Seton Hall Prep (NJ)	
2002	2	71	Brandon Weeden	RHP	Santa Fe HS (NM)	
2001	1 1	23 34	John-Ford Griffin Bronson Sardinha	OF INF	Florida State University Kamehameha HS (HI)	2007
	1	34 42	Jon Skaggs	RHP	Rice University	2007
2000	1	28	David Parrish	C	University of Michigan	
1999	1	27	David Walling	RHP	University of Arkansas	
1998	i	24	Andrew Brown	OF	Richmond HS (IN)	
	1	43	Mark Prior	RHP	University HS (CA)	Did not sign
1997	1	24	Tyrell Godwin	OF	East Bladen HS (NC)	
	1	40	Ryan Bradley	RHP	Arizona State University	1998
1996	1	20	Eric Milton	LHP	University of Maryland	
1995	1	27	Shea Morenz	RF	University of Texas	
1994	1	24	Brian Buchanan	OF	University of Virginia	
1993	1	13	Matt Drews	RHP	Sarasota HS (FL)	
1992	1	6	Derek Jeter	SS	Kalamazoo Central HS (MI)	1995-2014
1991	1	1	Brien Taylor	LHP	East Carteret HS (NC)	
1990	1	10	Carl Everett	OF	Hillsborough HS (FL)	
1989	2	45	Andy Fox	3B	Christian Brothers HS (CA)	1995-97
1988 1987	4 3	105 81	Todd Malone Bill Dacosta	LHP RHP	Casa Robles HS (CA) New York Tech	
1987	2	53	Rich Scheid	LHP	Seton Hall University	
1985	1	28	Rick Balabon	RHP	Conestoga HS (PA)	
1984	1	22	Jeff Pries	RHP	UCLA	
1983	4	93	Mitch Lyden	C	Beaverton HS (OR)	
1982	2	36	Tim Birtsas	LHP	Michigan State University	
	2	50	Bo Jackson	SS	McAdory HS (AL)	Did not sign
1981	2	52	John Elway	OF	Stanford University	
1980	3	74	Billy Cannon, Jr.	SS	Braodmoor HS (LA)	Did not sign
1979	2	51	Todd Demeter	INF	Grant HS (OK)	
1978	1	18	Rex Hudler	SS	Bullard HS (CA)	1984-85
1977	1	23	Steve Taylor	RHP	University of Delaware	
1976	1	15	Pat Tabler	OF	McNicholas HS (OH)	
1975	1	19	Jim McDonald	1B	Verbum Dei HS (CA)	
1974	1	12	Dennis Sherrill	SS	South HS (FL)	1978, '80
1973	1	13	Doug Heinhold	RHP	Stroman HS (TX)	
1972	1	14	Scott McGregor	LHP	El Segundo HS (CA)	
1971	1	19	Terry Whitfield	OF	Palo Verde HS (CA)	1974-76
1970	1	12	Dave Cheadle	LHP	Asheville HS (NC)	1072
1969	1 1	11 4	Charlie Spikes Thurman Munson	OF C	Central Memorial HS (LA) Kent State University	1972 1969-79
1060				_	Rent State University	
1968						
1968 1967 1966	1	1 10	Ron Blomberg Jim Lyttle	1B OF	Druid Hills HS (GA) Florida State University	1969, '71-76 1969-71

^{*}Bold indicates played for HV under NYY Affiliation, not including during MLB rehab stints.



MISCELLANEOUS HISTORY

NEW YORK YANKEES ALL-TIME HIGH-A AFFILIATES

YEARS	TEAM	LEAGUE
2021-Present	Hudson Valley Renegades	High-A East/South Atlantic League
1994-2019	Tampa Yankees/Tarpons	Florida State League
1987-93	Prince William Cannons	Carolina League
1963-92	Fort Lauderdale Yankees	Florida State League

^{*}The New York Yankees operated two clubs in what ultimately became High-A from 1987-92.

31 YEARS (...AND COUNTING) OF RENEGADES BASEBALL

The New York-Penn League franchise that eventually became the Hudson Valley Renegades is one of the oldest franchises in the South Atlantic League, with its first season of play coming in 1958. The Renegades franchise has relocated three times before settling into a permanent home in the Hudson Valley in 1994. They have been affiliated with nine MLB franchises and have operated as both an unaffiliated team within the structure of organized baseball (1990-91), and as a co-op franchise, accepting players from multiple MLB affiliates (1978-80, 96) in its past.

YEARS	TEAM NAME	CITY	AFFILIATION
2021-Present	Hudson Valley Renegades	Wappingers Falls, NY	New York Yankees^
1997-2020	Hudson Valley Renegades	Wappingers Falls, NY	Tampa Bay Devil Rays
1996	Hudson Valley Renegades	Wappingers Falls, NY	Co-op (Texas & Tampa Bay)
1994-95	Hudson Valley Renegades	Wappingers Falls, NY	Texas Rangers
1993	Erie Sailors	Erie, PA	Texas Rangers
1992	Erie Sailors	Erie, PA	Florida Marlins
1990-91	Erie Sailors	Erie, PA	Unaffi l iated
1988-89	Erie Orioles	Erie, PA	Baltimore Orioles
1981-87	Erie Cardinals	Erie, PA	St. Louis Cardinals
1980	Auburn Americans	Auburn, NY	Co-op (Cleveland & Los Angeles-NL)
1979	Auburn Red Stars	Auburn, NY	Co-op (7 organizations)
1978	Auburn Sunsets	Auburn, NY	Co-op (Philadelphia & Houston)
1972-77	Auburn Phillies	Auburn, NY	Philadelphia Phillies
1967-71	Auburn Twins	Auburn, NY	Minnesota Twins
1962-66	Auburn Mets	Auburn, NY	New York Mets
1958-61	Auburn Yankees	Auburn, NY	New York Yankees

^{^2021} was the first season in franchise history competing as a full-season team.

HUDSON VALLEY IN THE MLB ALL-STAR FUTURES GAME

Each season since 1999, Major League Baseball, in conjunction with the 30 Major League Clubs, MLB.com and Baseball America, select the 25-man rosters for the AL and NL (formerly U.S. Team and the World Team) in the annual All-Star Futures Game. Players from all full-season minor leagues are eligible to participate. The players listed below represent a list of the 23 players who appeared in the MLB All-Star Futures Game and played with Hudson Valley before their MLB debuts.

YEAR	PLAYER (TEAM)
2024	OF Spencer Jones (American)
	LHP Brock Selvidge (American)
	OF Spencer Jones (American)
	LHP Ken Waldichuck (American)
	INF Anthony Volpe (American)
	OF Jasson Domínguez (American)
	RHP Luis Medina (American)
	INF Vidal Bruján (American)
	OF/LHP Brendan McKay (American)
	None
2017	None
2016	None
2015	OF Richie Shaffer (USA)
2014	C Justin O'Conner (USA)
	LHP Enny Romero (World)
	RHP Taylor Guerreri (USA)
	LHP Enny Romero (World)
	LHP Enny Romero (World)
	INF Tim Beckham (USA)
	RHP Jeremy Hellickson (USA)
ZU I U	niir Jeieilly Hellicksoff (USA)

YEAR PLAYER (TEAM)	
2009OF KD Kang (World)	
2008None	
2007INF Evan Longoria (USA)	
2006RHP Juan Salas (World)	
2005None	
2004None	
2003None	
2002None	
2001C Toby Hall (USA)*	
2000OF Josh Hamilton (USA)	
1999INF Kelly Dransfeldt (USA)	

^{*}Won Futures Game MVP Award (re-named Larry Doby Award in 2002)





^{**}The High-A/Low-A split officially began in 1990.

D3 DAY: DISABILITY, DREAM AND DO



The Disability, Dream and Do (D3) sports camps were created by Dave Clark, the only pitcher in professional sports history to pitch on crutches, and Doug Cornfield, a former NCAA medal-winning runner at Georgia, who himself had a child born with no arms. These camps are presented completely free to campers through generous donations and sponsorships.

These camps allow professional players to interact with children with special needs in various drills and compete in sports with no limitations. In 2016, Dave Stevens, who was born without legs but played college football and minor league baseball, came on board as the D3 Day camps expanded to other cities in the US. Dave, Dave and Doug now put on camps all over the country and share their amazing stories as well as inspire others to look past a disability and turn it into an ability.

The Renegades have been proud to host D3 Day camps since 2017. D3 Day at Heritage Financial Park in 2024 is scheduled for Saturday, August 16.



Business to Business Printing
Legal Copying and Scanning
Invitation Suites · Booklets
Pens · Golf Balls · Water Bottles · Apparel
Graphic Design · Variable Data
Banners · Displays & More...

We Print Practically Everything!

HOPEWELL JUNCTION 845.226.4153

CAPITAL DISTRICT 518.435.9696



Print. Copy. Cookies.